Activity 1: Reading Strategy – The Industrial Revolution Begins
Understand Effects: A cause makes something happen.  What happens is the effect.  Many times, more than one effect results from a single cause. Understanding and identifying effects can help you to better understand an event’s significance. To understand effects, first identify the cause. As you read, look for why something happened. An effect is what happened. 
Example: In this paragraph the boldfaced text is the cause and the three effects are underlined. 
“New materials and sources of energy made new technologies possible. Coal was harnessed as a power source and was used to 1) develop the stem engine. The steam engine opened the door to 2) operating machinery and eventually powering locomotives and steamships. The use of 3) locomotives and steamships allowed for faster transportation of goods and people.”

Directions: Read the following paragraph. Circle the cause and underline each of the effects. Than answer the questions below. 
“When agricultural practices changed in the eighteenth century, more food was produced, which, in turn, fueled population growth in Britain.  The agricultural changes also left many farmers homeless and jobless. These two factors led to an urban population boom as people migrated from rural England into towns and cities.  This population increase, in turn, created a ready supply of labor to mine the coal, build the factories, and run the machines.  These early factories were fueled by wood and powered by water and wind.”
Questions: 
1. What caused the population growth in eighteenth-century England?

2. What was the effect of the population increase in England?


3. Which words in the paragraph signal that there is more than one effect?

4. What sentence in the paragraph is not an effect?

5. [bookmark: _GoBack]Create a Cause and Effect sentence below: _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Activity 2: Cause and Effect in the Industrial Revolution
Instructions: 
1. Go to the http://www.bbc.co.uk/history/british/victorians/launch_gms_cotton_millionaire.shtml
2. You are an investor who must make several choices regarding how you wish to run your new factory. As you make your choices record your reasoning behind each choice and the outcome of your choice in the space provided below. 
3. At the end of the game record what happened to your factory and why you think this was the outcome. What decisions had to be made in the creation of the factory system? What was often the outcome of these decisions?
Who wants to be a Cotton Millionaire?
1. Where will you locate your new business venture? Cumbria or Lancashire?
a. Explain your Choice: _______________________________________________________
________________________________________________________________________________________________________________________________________________
b. Outcome: _______________________________________________________________

2. What type of workers will you choose? Men or Women and children?
a. Explain your choice: _______________________________________________________
________________________________________________________________________________________________________________________________________________
b. Outcome: _______________________________________________________________

3. What sort of power will you invest in to increase production?
a. Explain your choice: _______________________________________________________
________________________________________________________________________
b. Outcome: _______________________________________________________________

4. To improve efficiency what would you choose to spend money on, better machinery or on improving working conditions?
a. Explain your choice: _______________________________________________________
________________________________________________________________________
b. Outcome: _______________________________________________________________

5. Conclusion: ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
